1 [ 2 [ 4
Current rating AC250V 60Amp 8 | Cover PC It
Insulation resistance | 1000M Ohms of More at DC500V 7 | Nut Steel Zn M3
Withstand voltage AC2000V/Minute 6 [ Screw-2 Steel Zn M3%*55
Wire range AWG #10~14 5 [ Screw-1 Steel Ni M4*8 Sem's
4 | Terminal BRASS Ni 1.5t
3 | Base PBT BLACK | UL94V-0
2 | Base PBT BLACK UL94V-0
1 | Base PBT BLACK UL94V-0
Part Name Material Plating Remark
PINx15.5+6.5+1.0 /\6-2%\
12,55 945 @gy
PINx15.5+0.8 6,25
| @ BOLT

@ §
¥

15,5

Cable
n mn
2z 12z ] 77z 5
T T :
o
™ N
(ep]
|
(o]
15,5 12,5 FIX
Cable 21 5,7
NOTE.
1. 5 Pin Ol&2 E& 29
GENERAL TOLERANCES Part Name. Dwg No.
0 ~ 20 +0.5 Terminal Block BI-TRT4OA-*P
20 ~ 50 | %08 | _—7Y
50 ~ 70 +1.0 . Drawing BY. Checkd BY. Approval BY. Sheet No. of
70 ~ 100 | 1.3 | %15
Scale /
(FRYLAE2L A
Materal BUIL ELECTRONICS CO., LTD.
Finish www.ebuil.com
1 2 [ 7




